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ALGEBRA 1
Solve by graphing Practice

Solve by graphing.

) y=2x-3 m=  y-int( , ) 2) y=x+5 m=  y-int( , )
y=x-1 m = y-int {, ) _ y=-4x m= y-int (, )
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3) y=3x-7 m= y-int (. ) | 4) y_=%x+2 m= y-int (

1 : . 5 .
=-x+4 m= y-int ( , ) y= =x+1 mz - y-int(
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5) y=-x+4 m = y-int (, ) 6
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6) y=4x+2 m= y-int (
y=4x-3 m = y-int (
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**For problems 8-10 all, put equations into slope-intercept form first. Show work.

8) y=3x+4 m = y-int (
4y=12x+16 m= y-int (

Solution:
9) y= lX m =
2
X-y= 7 m =
Solution:

10) 73x+y=5 m =
. X-y=7 m =
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